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Two identical antennas mounted on identical towers are separated from each other by a
distance of 45 km. What should nearly be the minimum height of receiving antenna to
receive the signals in line of sight ?

(Assume radius of earth is 6400 km)

Options :

8643514591, /2-1 m

8643514592, 2220 m

8643514593, 100-2 m

8643514594, 1977 m

Question Number : 1 Question Id : 8643511531 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
SN THERE Al THHREA Tlavay odel 3R O THHBURET 45 km 3R 97 $ef 3Ted.

I VUl Hebd U301 HYUITEIS] W&l AcAMl BA DAl Il Wddades Thdl I Wehe ?

(gedr=r 231 6400 km A1)
Options :

8643514591, /2-1 m

8643514502, 000 M

8643514593, 1°0-2 m

8643514594, 1077 m

Question Number : 2 Question Id : 8643511532 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The de-Broglie wavelength associated with an electron and a proton were calculated by
accelerating them through same potential of 100 V. What should nearly be the ratio of their
wavelengths ? {mF= 1.00727u m,=0.00055u)

Options :



8643514595, 43 : 1

8643514596, 1860 : 1

8643514597, 414 : 1

(1860)% : 1
8643514598.

Question Number : 2 Question Id : 8643511532 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
goidci4 9 WieH Haigd fe—ariel d¥eidl dleall, Wl J JREd 100 V f[dvydaM @i &el.

el qTeriard U Wdaodrd fodl 3R] bl ? (m,,=1.00727u m,=0.00055u)

Options :
8643514595, 43¢ 1

8643514596, 1860 : 1

8643514597, 414 :1

b
8643514598. L B

Question Number : 3 Question Id : 8643511533 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The refractive index of a converging lens is 1.4. What will be the focal length of this lens if it
is placed in a medium of same refractive index ? Assume the radii of curvature of the faces
of lens are R; and R, respectively.

Options :

8643514599, ZeT0

8643514600, 1

8643514601, Infinite



Ry R,

R1 = Rg
8643514602.

Question Number : 3 Question Id : 8643511533 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TS AR 3 uacie 1.4 8. WX o Jdedrd JuauHid sideiedl AIEgATd odel a¥ ol
T 1 T ol S Tpeie 3 A b FIeT gsswHrETET adhar Biedn ag@H R, R,
HE.

Options :

8643514599.

8643514600.

8643514601.
Ry R,

Ry — Ry
8643514602.

Question Number : 4 Question Id : 8643511534 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Red light differs from blue light as they have :
Options :
8643514603, ame frequencies and same wavelengths

Different [ requencies and different wavelengﬂ'ns
8643514604.

R643514605. Same frequencies and different wavelengths

Different frequencies and same wavelengths
8643514606.

Question Number : 4 Question Id : 8643511534 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



olel YTl Hodl YHRIURE 990l 38 R0 daas 3Te.
Options :

8643514603, TNl ARAINGI T WREAN Tedld

8643514604, T ARCINTT & el TRITA]

8643514605. ATET dINGNNdl d dfTeod] A Tedldl

8643514606, TTPdl ARAINT @ HREH T

Question Number : 5 Question Id : 8643511535 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

— P T
The magnetic field in a region is given 'm, B =B, ‘ L |Ic. A square I(}Op of side d is placed
L El r ._} A

with its edges along the ¥ and Iy axes. The Inop is moved with a constant velocit}-' U=Tq1 -

The emf induced in the Ioop ig

Y

A

Dz

Options :

8643514607. 2@

B.v :fl2

Q-

8643514608. a

-0

B Uzd
8643514609, 28



B, v,d>
8643514610,  2A

Question Number : 5 Question Id : 8643511535 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
— o A
Tl HFIRIe gadid &= B =Bﬂji|k3:|¢r1%??‘r$n%’. d 9] 3Helel ofd x 9 y HEAEY 9]
a/

REdE R S . AT 0 — v, | R T TR B o1, UL Yo fed S T

_______ e,
y
F
Oz
d
d
» 1
Options :
Bn Uy d
8643514607, 2@
B.v. d°

8643514608. a

8643514609, 22

8643514610,  2A

Question Number : 6 Question Id : 8643511536 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Amplitude of a mass-spring system, which is executing simple harmonic motion decreases
with time. If mass=>500g, Decay constant=20 g/s then how much time is required for the

amplitude of the system to drop to half of its initial value ?
(In 2=0.693)

Options :

3643514611, 2469 S

8643514612, 1001 s

0.034 s
8643514613.

8643514614, 1792 S

Question Number : 6 Question Id : 8643511536 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
IEGAF—NGT Hedld, Ol WYel ddad i e foE M doexEy BAl Bldl.  WedrEl s

oAl Al A Eiefl Jvarars! fbel 9 i ?
(A =500 g, BEMET [eRiH =20 g/s, In2=0.693 &)

Options :

8643514611, 2362 s

8643514612, 1001 s

8643514613, 034 s

8643514614, 1732

Question Number : 7 Question Id : 8643511537 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Calculate the value of mean free path (A) for oxygen molecules at temperature 27°C and
pressure 1.01x10° Pa. Assume the molecular diameter 0.3 nm and the gas is ideal.
(k=138=10" K™Y



Options :

v
8643514615, 22 M

58 nm
8643514616.

8643514617, S0 NM

102 nm
8643514618.

Question Number : 7 Question Id : 8643511537 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
27°C dYEHN 9 1.01 x 10° Pa SEM a4 YUEIS! WRERT Jad U9 (A) Hod dlel. A

T U@ @19 0.3 nm 32 991G S8 ;L. (k=1.38x10"2 JK 1)

Options :

Y
8643514615, 52 nm

58 nm
8643514616.

8643514617, 56 nm

102 nm
8643514618.

Question Number : 8 Question Id : 8643511538 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What will be the nature of flow of water from a circular tap, when its flow rate increased
from 0.18 L/min to 0.48 L/ min ? The radius of the tap and viscosity of water are 0.5 cm and
10~ 3 Pa s, respectively.
(Density of water : 10° kg/m?)

Options :

8643514619, Steady flow to unsteady flow

8643514620, Cnsteady to steady flow



8643514621, emains steady tHow

8643514672, Nemains turbulent flow

Question Number : 8 Question Id : 8643511538 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TMeATeR dIcigd gl Tded od o4 del el TdEdl ¥ 0.18 L/min TR 0.48 L/ min

T diedl. Fedn 9 g fasfed g@H 0.5 cm 910 73 Pa s 318
(UruETEr B : 10° kg /m°)

Options :

e yarE o IIReN yas
8643514619.

8643514620. d Re e

8643514621. R 7aTE Ve

8643514622. =

Question Number : 9 Question Id : 8643511539 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A charge Q is moving dl distance in the magnetic field B . Find the value of work done by
—

B .
Options :

8643514623, 1

8643514624, 2810

8643514625, nfinite

8643514626.



Question Number : 9 Question Id : 8643511539 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

QAR B YaFE &mIT dl SiX W . B ¥ Horedl HER Tou Pral.
Options :

8643514623, 1

8643514624. A

8643514625.

8643514626.

Question Number : 10 Question Id : 8643511540 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Calculate the time interval between 33% decay and 67% decay if half-life of a substance is
20 minutes.

Options :

20 minutes
8643514627.

40 minules
8643514628.

A0 minutes
8643514629.

13 minutes
8643514630.

Question Number : 10 Question Id : 8643511540 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
W} YergiEl sgigdel 20 B oE. % 33% |M 9 67% B dMdi dokiid BId Blal.

Options :

'j‘ ﬁﬁ%
8643514627. 20



8643514628, 40 FFTC

8643514629, 00 TS

13
8643514630.

Question Number : 11 Question Id : 8643511541 Question Type
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: MCQ Option Shuffling : Yes Is

For the given circuit, comment on the type of transformer used.

I ip_ 011A

e

]||[s]

220V E

Options :

8643514631 Step - up transformer

8643514637, Otep down transformer

8643514633 Auto transformer

Auxilliary transformer
8643514634. 3

Question Number : 11 Question Id : 8643511541 Question Type
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: MCQ Option Shuffling : Yes Is



forea RTINS, Iieledl UREd=T YeREas gfdfear =.

i i 011A

220V G

W

Options :

8643514631, ¢ Rafi

8643514632.

8643514633.

8643514634.

Question Number : 12 Question Id : 8643511542 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The half-life of Au!*® is 2.7 days. The activity of 1.50 mg of Au!"® if its atomic weight is
198 g mol ! is, (N, =6x10%*/mol).
Options :
240 Ci
8643514635, 220 Ci

8643514636. 3

8643514637.

8643514638.

Question Number : 12 Question Id : 8643511542 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Au'® 91 FUigHTer 2.7 f&ad aME. 1.50 mg Au'®® @1 WipTar, WX @ Avas duld
198 g mol lage, (Npy=6x 1(]23_! mol)

Options :

8643514635, 220 Ci

8643514636, -2 <1

8643514637, 222 C1

8643514638, 200 Ci

Question Number : 13 Question Id : 8643511543 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A bimetallic strip consists of metals A and B. It is mounted rigidly as shown. The metal A
has higher coefficient of expansion compared to that of metal B. When the bimetallic strip is

placed in a cold bath, it will :

Options :

2643514639, Bend towards the right

R643514640. Bend towards the left

8643514641 Not bend but shrink

8643514642. MNeither bend nor shrink

Question Number : 13 Question Id : 8643511543 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



! fEeTgedn S A 9B HI ded. ITEeUVHE O ©E Sdelel ed. A HIEl TR0 Uie
B 9IUEm WING e, Wil fguigeEl ug g€ Wiswd odedl,

Options :

8643514639, Soredl SINIXT didhed

8643514640. e Raph iy

8643514641. e

8643514642, TPV TIEl T SHHUIR A1l

Question Number : 14 Question Id : 8643511544 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A large block of wood of mass M=5.99 kg is hanging from two long massless cords. A bullet
of mass m=10 g is fired into the block and gets embedded in it. The (block + bullet) then
swing upwards, their centre of mass rising a vertical distance h=9.8 cm before the
(block + bullet) pendulum comes momentarily to rest at the end of its arc. The speed of the

bullet just before collision is :

(take g=9.8 ms™?)

2
P S e R g L e L h
o M
—=
I.J
Options :

8643514643, D114 m/s



8643514644, D214 m/s

8643514645, 5o1-4 m/s

8643514646, 11d m/s

Question Number : 14 Question Id : 8643511544 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
g oig dudfavfed ST M=5.99 kg SRgAMET G SEl AIST SIHdl dlgd 3e.

m=10 g IFJAMEI 7Tl SThedld el 9 <l AAN TS B Ha¥ (SPhal + 7o) Il <9
SIeTd, A9l YECHT TIHE] (Sdhal + o) Sleid argRal R 2vagdl, ¥gds h=9.8 cm
T Y a¥ WIdl. el 97 JHhdrd Hurd 2ugrgdl e,

(=1 g=9.8 ms™?)

ETGITEIE T

m
—=
(4

Options :

8643514643, 114 m/s

8643514644, S21.4 m/s

8643514645, 5314 m/s

8643514646, 11A m/s

Question Number : 15 Question Id : 8643511545 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Statement 1 : A cyclist is moving on an unbanked road with a speed of 7 kmh~! and
takes a sharp circular turn along a path of radius of Zm without reducing
the speed. The static friction coefficient is 0.2. The cyclist will not slip and
pass the curve. (g=9.8 m/s?)

Statement 11 : If the road is banked at an angle of 45° cyclist can cross the curve of 2Zm

radius with the speed of 18.5 kmh ! without slipping.
In the light of the above statements, choose the correct answer from the options given below.
Options :

643514647, Both statement I and statement 11 are true

643514648, Both statement | and statement Il are false

3643514649, Statement 1 is correct and statement 11 is incorrect

2643514650, Statement 1 is incorrect and statement 11 is correct

Question Number : 15 Question Id : 8643511545 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fagm 1: U 9EFHdel 9 didbideicd] Wlds- 7 kmh ! 9 WIId 318 9 71 HAT 7 Sl
2 m Brodl IRl TRaEsT Ui MR 9o vl Refie |uu quiis 0.2 .

AAGAdlell H6Rd Fé d 90 UR dYdl. (g=9.8 m/s?)

fagm 11 . WY IR 45° DHER dibfded], -G ede 7 gEYdl 18.5 kmh~1 971 2 m 3
3¥efell 9 Tl UN Hdl.

el fqumRigHE, @il fSoe waEigs 9 S fHas.
Options :

2643514647, fag= 19 fag 1 S8 99 3Ed.

8643514648, fag™= 1 9 999 11 g2 Qiel JTed.

0643514649, fagr 1 REY 3me 9 faue 1 9 3.

8643514650, fag I g o 9 {99 11 SNEY a7e.



Question Number : 16 Question Id : 8643511546 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2§ + 3t ;" + 9k m/s and accelerating in

e
i)

A mosquito is moving with a velocity v =051t

uniform conditions. What will be the direction of mosquito after 2 s ?
Options :

48 o
tan~ | = | from x-axis
8643514651. g

_1(5) :
tan | = | from y-axis
8643514652. \2)

3 2} _
tan 3 from x-axis
8643514653. Ly

i 2] :
tan 5 | from y-axis
8643514654. s

Question Number : 16 Question Id : 8643511546 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TH AN p =052 + 3t] + 9k m/s & TREF IF T THEAN IR @O IME.
HhaHdY HEME fSen SIvET Ry ?
Options :
1{5)
x-SIEMIRLT tan ' | = |
8643514651, \2)

. 5
y-3T&TTITYA tan l§¢
8643514652. S

1(2)
x-STETIRLA tan 1[;{|
8643514653, =/

3
lpaﬁmﬂﬁﬁtmf*(%|
8643514654, S



Question Number : 17 Question Id : 8643511547 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In order to determine the Young's Modulus of a wire of radius 0.2 cm (measured using a
scale of least count=0.001 cm) and length Im (measured using a scale of least
count=1 mm), a weight of mass 1 kg (measured using a scale of least count=1 g) was
hanged to get the elongation of 0.5 cm (measured using a scale of least count 0.001 cm).
What will be the fractional error in the value of Young's Modulus determined by this
experiment ?

Options :

8643514655. hesm

o
8643514656. -1

g
8643514657, O- 14"

-
8643514658, ° ©

Question Number : 17 Question Id : 8643511547 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

0.2 cm BrA1 (AT A A9 =0.001 cm 995 Allell) d 1 m Sgrean (S0 ogad A=
1 mm 919% HAloledl) TRET T AGIS A0arre! 1 kg O 9o (S0 g AU=1 g ) Tl
el iR 916 0.5 cm (319 YT A =0.001 cm 9195+ Aioiell) fH@edl. &= Jarmge I
AiG ArSvATl HeRid Uil g fdhel el

Options :

8643514655, 1+ %

=
8643514656. A

=
8643514657. e

-
8643514658,



Question Number : 18 Question Id : 8643511548 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A resistor develops 500 | of thermal energy in 20 s when a current of 1.5A is passed through
it. If the current is increased from 1.5 A to 3 A, what will be the energy developed in 20 s.
Options :

8643514659. 200

8643514660. g

8643514661. 1500 J

2
8643514662. 2000

Question Number : 18 Question Id : 8643511548 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Teh X190 20 ¥Wehard 500 ] Uae! SHIf0Id Sl 9O SRl Wl Figd 1.5A 9RT d@d. W) gRT1 1.5A

IR 3A Ta diefdel, @ 20 9ded fHdl Hul TR g’
Options :

8643514659. 208

8643514660. g

8643514661, 1000 ]

2
8643514662. 2000 J

Question Number : 19 Question Id : 8643511549 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Find out the surface charge density at the intersection of point x=3 m plane and x-axis, in

the region of uniform line charge of 8 nC/m lying along the z-axis in free space.

Options :



8643514663, =88 C/m

P
8643514664, U-07 nC m

A7 - 2
8643514665, 324 nC m

~ =2
8643514666, 0 NC ™

Question Number : 19 Question Id : 8643511549 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
o IIdENuNd, x=3 m 5= TOUFTade U9R B9l el -3l 9T ThaaH Yug

U9 8 nC/m 3e.
Options :

47.85 C/m
8643514663.

o L
8643514664, 0-07 nC m

A7 ) 2
8643514665, 0124 nC m

40nCm 2
8643514666.

Question Number : 20 Question Id : 8643511550 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The following logic gate is equivalent to :

B—

Do—
D
| —

Options :



8643514667, \ND Gate

8643514668, VAND Gate

8643514669, O Gate

NOR Gate
8643514670.

Question Number : 20 Question Id : 8643511550 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Glelled @lolie §R __ SXEX THaAM 3E.

DD

A

Do—
p— | —

Options :

8643514667. B0 R

8643514668. NAND &Y

8643514669, OR BX

8643514670, NOR ER
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Section Id : 864351104
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20

Mark As Answered Required? : Yes



Sub-Section Number : 1
Sub-Section Id : 864351104
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 8643511551 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

[f one wants to remove all the mass of the earth to infinity in order to break it up completely.
I
% N

The amount of energy that needs to be supplied will be — —— where x is
5

(Round off to the Nearest Integer)
(M is the mass of earth, R is the radius of earth, G is the gravitational constant)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 8643511551 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

W) TERM e Wd aRgAE digd Sargdd, quivel drevarerd] Uiy . e gRiduard

s Fet & ‘3:;1“ SR 99 x = e, (awe quiteTd)

5

(M & Jede agAM, R & 9=l Bl G & Toay ReRrie ame.)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643511552 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



A swimmer can swim with velocity of 12 km/h in still water. Water flowing in a river has

velocity 6 km/h. The direction with respect to the direction of flow of river water he should

swim in order to reach the point on the other bank just opposite to his starting point is
°. (Round off to the Nearest Integer)

(Find the angle in degrees)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643511552 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

URUIRT 12 km/h T UiEdl W -EIdiel UvgrEl YdEEl 97 6 km/h 38, & 3% UEd {6
el el gl Yareren e ° fo¥d o1 U W1 g geanre R
JoarE faeg fREda g amm.  (Taourd=ar guiead)

(fefiomer &= =iem)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643511553 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A body of mass 2 kg moves under a force of (2 i +3j + 5!6,:' N. It starts from rest and was at

the origin initially. After 4 s, its new coordinates are (8, b, 20). The value of b is

(Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText



Possible Answers :

100

Question Number : 23 Question Id : 8643511553 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2 kg TRGHHET 9] [2? | ’5; | S;E}NWTWW g, < ReRAUNH Wi 9 gedad
FNHERY IS, 4 Hharay, T T4 waeia (8, b, 20) 3ed. b= I e,
(GECLIGEIRIEAEDR)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643511554 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

- A A
Aforce F =4i + 3j + 4k is applied on an intersection point of x =2 plane and x-axis. The

magnitude of torque of this force about a point (2, 3, 4) is . (Round off to the

Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643511554 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

x-38 G x=2 Yol PreveEdd {§gak F =40 + 3] + 4k 99 o@el A&, w1 gl

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes



Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 25 Question Id : 8643511555 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A solid disc of radius ‘a” and mass ‘'m’ rolls down without slipping on an inclined plane

s
making an angle 6 with the horizontal. The acceleration of the disc will be b8 sinb where

b is . (Round off to the Nearest Integer)
(g =acceleration due to gravity

B =angle as shown in figure)

P

6

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643511555 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



‘a’ el 9 /m’ agAFEN W19 dedel e iaesl 0 & $eicdl AT Udellded 7 5l

TeTed Glell Id €. daherd @l %gsinﬂ A ST b=____ HE. (Sdosedl

EUICAREG)
(g=Todg WU, =3P SMFIIYATT D)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643511556 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

For an ideal heat engine, the temperature of the source is 127°C. In order to have 60%
efficiency the temperature of the sink should be __~~ °C. (Round off to the Nearest
Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643511556 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

T ATHASMETS!, ISTHE AI9d 127°C 36, 60% HRUEHAl SHugrae!l §sid argqr
°C 3/l Ulfgsl. (Wdoedl QUiade)




Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643511557 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In a parallel plate capacitor set up, the plate area of capacitor is 2 m? and the plates are
separated by 1 m. If the space between the plates are filled with a dielectric material of
thickness 0.5 m and area 2 m? (see fig) the capacitance of the set-up will be 2.

(Dielectric constant of the material=3.2) (Round off to the Nearest Integer)
d

Y

Q‘“

Ix

d

2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643511557 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



HHIOY U WHINE, WHN=redl Usdid &eho 2 m2 30 Usaiqdie #Ha¥ 1 m e, oY
USEAE @R 0.5 m Gl 30T 2 m2 &G (APl &6l) URIfdeld Ui el o "Rl
e, WY, (UerATE TNIfdEd RReRie =3.2) (Sdwdl quieiadad)

d

Y

ij

R

d

2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643511558 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The energy dissipated by a resistor is 10 m] in 1 s when an electric current of 2 mA flows

through it. The resistance is ). (Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643511558 Question Type : SA



Correct Marks : 4 Wrong Marks : 0
G 1 Ydhard 10 m] Hull AUHd dell ol AT 2 mA fagd ar1 d9=d. g y)

e, (Sdosdl YUlich1add)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643511559 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A deviation of 2° is produced in the yellow ray when prism of crown and flint glass are
achromatically combined. Taking dispersive powers of crown and flint glass as 0.02 and
0.03 respectively and refractive index for yellow light for these glasses are 1.5 and 1.6
respectively. The refracting angles for crown glass prismwill be __ ° (in degree).
(Round off to the Nearest Integer)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
100

Question Number : 29 Question Id : 8643511559 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Wil o fUgA 9 fieie fism sauiiuur Gisel dwl fUdear yerma 2° 7eH fagad 2id. ored @
fiFreic. Pra=l JUEBRU Uil AgehH 0.02 9 0.03 B9 9 fUdeetl UHEEl JUan-ie &l SIamars!

FIHH 1.5 1.6 e, BT DEES JUGGT DA e, (STao=al quiieTa)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643511560 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

A closed organ pipe of length L and an open organ pipe contain gases of densities p; and p,

respc-cfivc-l}-'. The cnmprc-ssihﬂit}-' of gases are equal in both the pipes. Both the pipes are

x: [

vibrating in their first overtone with same frequency. The length of the open pipeis 5 L 1“| 0

where x is _. (Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643511560 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

L Ai§r=1 §5 Sebld 9 SES= o 3 p, T p, BEl I WReldll 318, Ial Todiqed drgEl
HUTSdl ARG e, S8l ool e dRdNdd il UlEedl 3fERaYaTd U4 Uldd 3Ted.

mqﬁaaﬁ—w’:l S, Sdx=_ QW (i quienda)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Chemistry Section A
Section Id : 864351105
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes

Sub-Section Number : 1



Sub-Section Id : 864351105
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8643511561 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The INCORRECT statement regarding the structure of Cg is :
Options :

643514681 It contains 12 six-membered rings and 24 five-membered rings.

The six-membered rings are fused to both six and five-membered rings.
8643514682.

2643514683 The five-membered rings are fused onl}-' to six-membered rings.

2643514634 Each carbon atom forms three sigma bonds.

Question Number : 31 Question Id : 8643511561 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
. HYggggerd gald
CIEJ'[-J = : ﬁa—l:r 0L oy e = 3 aﬁ’f
Options :

864351468]. O 12 al Hcdhidl 9oy AT 24 U Ochidl 9oy 3Med.

Wl Hchidl dodl f2 Sr2l Wal Il Urd Hchiedl dodivl Taidd (Wiecidl) 3ad.

8643514682.

U Hehidl deid had Wal Hchil dediql Thidd (Slseiel) 3ed.
8643514683,
8643514684, TAD BT U] 9 R g9 TR HAl.

Question Number : 32 Question Id : 8643511562 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The INCORRECT statements below regarding colloidal solutions is :

Options :
R643514635. 4 colloidal solution shows colligative properties.



A colloidal solution shows Brownian motion of colloidal particles.

8643514686.

The flocculating power of AI** is more than that of Na™* |
8643514687.
8643514688, An ordinary filter paper can stop the flow of colloidal particles.

Question Number : 32 Question Id : 8643511562 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Diciell SEUIHE Well foeiedl faeamits] gor fagm e
Options :

8643514685.

2643514686, 7 Aell QEUTIid ®U Ghdh-l aleidliel grRaddrd.

AR+ I HUART I Nat Uel wiNg 8.
8643514687.

06435 146gg, TIICH PO IEAT TMegUll BRI ellfed &7 Figadl Ad.

Question Number : 33 Question Id : 8643511563 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The characteristics of elements X, Y and Z with atomic numbers, respectively, 33, 53 and 83
are :

Options :

8643514689, X, Y and Z are metals.

X and 7 are non-metals and Y is a metalloid.
8643514690.

8643514691. X is a metalloid, Y is a non-metal and 7 is a metal.

X and Y are metalloids and 7 is a metal.
8643514692.



Question Number : 33 Question Id : 8643511563 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
qolged X, Y HIfOT Z SHid I H 0] 3 33, 53 ;M1 83 Hred idl HfHewevrd

red.
Options :

X, Y &foT Z & &g 3red.
8643514689,

8643514690, X i Z & Harg M1 Y & aIgags e,

8643514691, X & TGH, Y & TG SV Z T &G e

064351460y < TMOTY & SNGHGA H0TZ & &g e

Question Number : 34 Question Id : 8643511564 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following reduction reaction CANNOT be carried out with coke ?
Options :

8643514603, 203 T

8643514694, LNO — Zn

Cu,O — Cu
8643514695. e

ALO, — Al
8643514696.

Question Number : 34 Question Id : 8643511564 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ERAA®! PRI &YUT AHHa S \Ed Heal da A7
Options :

Fe,O, — Fe
8643514693. T



8643514694, N0 — Zn

8643514695, 120 — Cu

ALO, — Al

8643514696.

Question Number : 35 Question Id : 8643511565 Question Type
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The correct statements about H,0O, are :
(A) wsed in the treatment of effluents.
(B) wused as both oxidising and reducing agents.
(C) the two hydroxyl groups lie in the same plane.

(D)  miscible with water.

: MCQ Option Shuffling : Yes Is

Choose the correct answer from the options given below :

Options :
s643514697. (A) (B) and (D) only

s643514695. P (C) and (D) only

8643514699 () (€) and (D) only

3643514700, P A () and (D)

Question Number : 35 Question Id : 8643511565 Question Type
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: MCQ Option Shuffling : Yes Is



H,0, dd8l aREx faar 3Ted .

(A) TigaeE wipdad] I,

(B) SIfFTSIPNG 3T &UIPRG & Srerel SuarT 2idl.
(C) <re Bdglfdde Tc UM Udelld 3.

(D) ugEREY HEviE S,

Glellel iagd a¥aR Sa¥ e,
Options :

s643514697. () (B) SMOT (D) Bt

8643514608, (B (C) ST (D) BT

8643514699, (A (O) 30T (D) B

8643514700, (A (B), (C) ST (D)

Question Number : 36 Question Id : 8643511566 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
[dentify the elements X and Y using the ionisation energy values given below :

lonization energy (kJ/mol)

1st ond
X 495 4563
Y 731 1450
Options :
8643514701, %~ Na; Y=Mg
X=Mg;Y=Na
8643514702.
8643514703, < F; Y=Mg
X=Mg; Y=F

8643514704.



Question Number : 36 Question Id : 8643511566 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Grell feeledl S SHuredl Jelido Jeladl X 1Y S :

T Sl (kJ/mol)
T (1% g (279
X 495 4563
Y 731 1450
Options :
8643514701, ~— Na; Y=Mg
X=Mg;Y=Na
8643514702.
8643514703, <1 Y=Mg
8643514704, ~~ Mg Y=F

Question Number : 37 Question Id : 8643511567 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The exact volumes of 1 M NaOH solution required to neutralise 50 mL of 1 M H3P03 solution
and 100 mLof 2 M I-IJ"‘-C‘J2 solution, respectively, are :
Options :

8643514705, 20 mL and 50 mL

100 mL and 50 mL
8643514706.

; N
8643514707, 100 mL and 200 mL

8643514708, 100 mL and 100 mL

Question Number : 37 Question Id : 8643511567 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



50 mL 1 M H,PO, 3feT 100 mL 2 M H,PO, SEvIi=l SSHHISRUTG @R 1 M NaOH d
TEY HHRAN IFJHH 3Te.

Options :

8643514705, 20 ML ST 50 ml.

8643514706, 100 mL ST 50 mL

0643514707, 100 mL 31 200 mL

9643514708, 100 mL 30T 100 mL

Question Number : 38 Question Id : 8643511568 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Arrange the following metal complex/compounds in the increasing order of spin only
magnetic moment. Presume all the three, high spin system.
(Atomic numbers Ce=58, Gd=64 and Eu=63))
(a) (NH,),[Ce(NO;)] (b) Gd(NO,); and (c) Eu(NO;),
Answer is :
Options :
8643514709, @) < (®) < (©)

8643514710. Cat R

8643514711, 0 <@ <(0)

8643514712, (©) < @) < ®)

Question Number : 38 Question Id : 8643511568 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



el g1y Wfce/Hgae WH %ad gao JAguUiiEl dedl $F oM, 94 el 9@ 39H
fafted amed ™ |Ha.

(37]3fh Ce =58, Gd=64 3T Eu=63)

(@) (NEHICeMNO)]l () GANOg, N (c) Eu(NO,),
Options :
8643514709, (@) < () < (c)

8643514710, 2 < <(®)

sea3siazil, O <@ <(

8643514712, &) < @) < ®)

Question Number : 39 Question Id : 8643511569 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Fe;rz and Fz:-y'3 are known when x and y are :

Options :

2643514713, ¥=F CL Br, Iand y=F, Cl, Br, I

8643514714, ¥—F, Cl, Br, Iand y=F, C, Br

g643514715. X=F Cl, Brand y=F, Cl, Br, I

8643514716, =Cl, Br, Iand y=F, Cl, Br, |

Question Number : 39 Question Id : 8643511569 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Alfed 3¥eical Fex, 30T Fey, AT x 30T y TEd.

Options :

8643514713, * F, Cl, Br, 1 0T y=F, , Br, I



x=F, Cl, Br, I &1fo1 y=F, CI, Br
8643514714

8643514715. x=F, Cl, Br WJFR CL Br, 1

8643514716, ¥=CL Br, 1 3 y=F, CI, Br, I

Question Number : 40 Question Id : 8643511570 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The green house gas/es is (are ) :

(A) Carbon dioxide

(B) Oxygen

(C) Water vapour

(D) Methane

Choose the most appropriate answer from the options given below :
Options :

(A) only

8643514717.

8643514718, (4) and (C) only

8643514719, 2 (&) and (D) only

8643514720, V) 2nd (B) only

Question Number : 40 Question Id : 8643511570 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



(C) UvErE 9re

(D) oM

Gefidl ygiaEgd ard 9o el
Options :

8643514717, (A) PTI

3643514718, (A) I (C) P

s643514719, (M) (©) ST (D) B

(A) ST (B) B
8643514720.

Question Number : 41 Question Id : 8643511571 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List-1 with List-1I :

List-1 List-11
Test/Reagents/Observation(s) Species detected
(a) Lassaigne’s Test (i) Carbon
(b) Cu(ll) oxide (ii) Sulphur
(c) Silver nitrate (iif) N, S, P, and halogen
(d) The sodium fusion extract gives (iv) Halogen Specifically

black precipitate with acetic acid

and lead acetate
The correct match is :
Options :
8643514721, (@-(D), (b)-(ii), (c)-(iv), (d)-(iii)

8643514722, (@)-(ii1), (b)-(1), (c)-(iv), (d)-(ii)



8643514723, (@) (ii), (b)-(i), (c)~(i1), (d)-(iv)

soa3s147p4. @), B)-v), (c)-(iid), (d)-(ii)

Question Number : 41 Question Id : 8643511571 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AE-1 A1 ¥ ST

Irai-1 AE-1I
Tl frfharerRs/ <eian wilererell Wl
(a) TEEATE AUl (i) EA
(b) Cu(ll) =S (ii) BT
(c) THe=X @cc (i) N, S, P, amfur Ecrer4
(d) oMHfcH e 9 ofs (iv) SAFES Bad

giffice Aissm wgo
FPIEET DIl HTET oo

ArY Wl e,
Options :

8643514721. (@)-(1), (b)-(ii), (c)-(iv), (d)-(iii)
8643514720, (@)-(ii), (b)~(i), (c)-(iv), (d)-(ii)
R643514723. (@)-(ii), (b)-(1), (c)-(11), (d)-(iv)

2643514724, @)-(1), (B)-(iv), (c)-(iii), (d)-(ii)

Question Number : 42 Question Id : 8643511572 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Statement 1 :  Sodium hydride can be used as an oxidising agent.
Statement Il :  The lone pair of electrons on nitrogen in pyridine makes it basic.

Choose the CORRECT answer {rom the options given below :



Options :

8643514725, Both statement I and statement Il are true

2643514726, Both statement | and statement 1l are false

Statement 1 is true but statement 11 is false
8643514727.

Statement 1 is false but statement 11 is true
8643514728.

Question Number : 42 Question Id : 8643511572 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
faam1:  wIEeM TugEe SfNEeRe =UH d0% ¥hdm.

a1 TRl TREcHade ke geEe grEe o S ghl S,
Ee e wafaivgg wRer St .

Options :

8643514705, Tl (AET FAET 1 MO fauT 1 =Y ST

8643514726, Sl fagm faum= 1 anfor fau= 1 9 aned.

faum= 1 =y anfor faum 11 9 e,
8643514727.

faum= 1 @ anfr iy 1 =y .
8643514728.

Question Number : 43 Question Id : 8643511573 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An unsaturated hydrocarbon X on ozonolysis gives A. Compound A when warmed with
ammonical silver nitrate forms a bright silver mirror along the sides of the test tube. The

unsaturated h}-’drocarbon X is :

Options :

CH;—C=C—-CHj
8643514729.



CH;—C = C—CH;

8643514730. CHy CHy

HC=C—CH,—CH,
8643514731 “

CH,

|
CHT—C={i]
8643514732,

Question Number : 43 Question Id : 8643511573 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
UHT FEJC SASIBIET X o AAASHE bel sraal A e W7 A U@l sEiaEa Hem
ARIGCEREY diidel OY o dihd digrdl N Tfoed dedl Id TaR A, o 3N

Options :

CH;— C=C - CHj
8643514729.

CH3—C = C—CHj

8643514730. CH; CHs

HC=C—CH,—CH;
8643514731, :

CH,

|
CHT—C=<ij
8643514732.

Question Number : 44 Question Id : 8643511574 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



e

Identify the reagent(s) A" and condition(s) for the reaction
Options :

8643514733, Gl d dark, Anhydeoua AKT,

A=HCl, Zn(Cl,
8643514734. =

— L UV E
8643514735, 1= C27 UV light

A=HO ; Anhydrous AlIC I3
8643514736. § :

Question Number : 44 Question Id : 8643511574 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Cl

FTHHUES] AHBATHNS ‘A" U1 el 3AToeEr.
Options :

A=Cl, ; P, e AICL
8643514733. 2 ~

8643514734, 4~ HCY £0Cl,

— . 7 ThI9
8643514735. Lok o

8643514736, A= HCL; Foiet AICL



Question Number : 45 Question Id : 8643511575 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CHy COOH
/ i r . -\H.--\H'/
- et (‘
OCHj,4 OCH,4
In the above reaction, the reagent “A” is :
Options :
8643514737,
. : ;
8643514738, Alkaline Kh11104, H
8643514739, HCL Zn—Hg
i
8643514740, TNaBHs, H3O

Question Number : 45 Question Id : 8643511575 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Hs _ COOH
e 2 ._-:::._:-.::_.- \./
]

OCH;,4 OCH,4

T Affpddel, “A” AfafFaeRe e
Options :

o, C

8643514737, HAIH,

EWF?T J b
8643514738. = KMnO,, H

8643514739, 11l Zn—Hg

NaBH,, H,O*
8643514740, ~



Question Number : 46 Question Id : 8643511576 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

/N @ CHMgBr  Biher

§ | (1.0 equivalent), dry X

S (ii) HyO* Major Product
OCH,4

The structure of X is :

Options :

WT
|:;f ~ ..."""--._Cf.HE
8643514741, CH
( — ‘ -.H"“NHQ
.%v.f’fﬂ ke 7
OCH,4
8643514742,

8643514743.



8643514744.

Question Number : 46 Question Id : 8643511576 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

SN (i) CgHsMgBr  fefet du

f ‘ (1.0 F9d=3), . X
= \__ (i) HO* S 341G
OCH,
X 9l |egHl 3Ts

8643514741. OCH,
( = ‘ IIHEIIRNHE
N:MQ"‘Q.,_W____,.-"'H : -_-.___.-
OCH;,4
8643514742.
"'\-\.\_\. -~

8643514743.



8643514744.

Question Number : 47 Question Id : 8643511577 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following is least basic ?
Options :

(CH3CO)»NH
8643514745, S

8643514746, (C2H5)2NH

(CH.CO)NHC,H
8643514747, V) 2775

CH %N
8643514748, 2 1503

Question Number : 47 Question Id : 8643511577 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
EefAUs] W HHl ARATNEA S0 TS ?
Options :

(CH;CO)NH
8643514745, Ll

8643514746, (C2H5)2NH

(CH.CO) NHC,H
8643514747, 3V 2775

(CaH %
8643514748, "2 503



Question Number : 48 Question Id : 8643511578 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Armnmml}-'sis of Alk}-'l halides followed b}-' the treatment with NaOH solution can be used to

prepare primary, secondary and tertiary amines. The purpose of NaOH in the reaction is :

Options :
8643514749, 0 Temove basic impurities
8643514750, 'O activate NH; used in the reaction

3643514751, 'O increase the reactivity of alkyl halide

643514750 to remove acidic impurities

Question Number : 48 Question Id : 8643511578 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Jfchel TS IAMIZMTIaY NaOH =1 SEEREY Uhal $oil Il mafdd, g2d

M FAIS A~ IR FIGl T, NaOH =01 IMRmET & e,

Options :

8643514749. el d ’

AfHfpaTel arRvad Sleiedl NH, o iR Hrogrdrel.
8643514750. ~

S64351475] DA EAESA TG WihiId HUAIS.

8643514752. Sl & i

Question Number : 49 Question Id : 8643511579 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following polymer is used in the manufacture of wood laminates ?
Options :

643514753 Melamine formaldehyde resin



8643514754, Orea formaldehyde resin

8643514755, Cis-poly isoprene

8643514756. Phenol and formaldehyde resin

Question Number : 49 Question Id : 8643511579 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
sl Wik FMdwe] Eeflei®!l BT ggdiked dma¥drd ©

Options :

8643514753, T BIRACERERS X

3 BiiHlcelBlE S
8643514754 IR cSlEIge ¥

8643514755, CisUIel STAEII

643514756, ftheilel 3T BINATceRSS s

Question Number : 50 Question Id : 8643511580 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The secondary structure of protein is stabilised by :
Options :

8643514757, van der Waals forces

8643514758. Peptide bond

8643514759. Hydrogen bonding

2643514760, Slycosidic bond

Question Number : 50 Question Id : 8643511580 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Options :
8643514757, 91 < diesl et

8643514758, TCIEe dH

BS99

8643514759.
TGRS §Y

8643514760.

Chemistry Section B
Section Id : 864351106
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351106
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8643511581 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

When 35 mL of 0.15 M lead nitrate solution is mixed with 20 mL of 0.12 M chromic sulphate

solution, » 10~ 2 moles of lead sulphate precipitate out. (Round off to the Nearest

Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 51 Question Id : 8643511581 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



Wedl 20 mL 0.12 M ®1iH$ Hebe =Eue 35 mL 0.15 M o8 A[ic¢ce SEud [H8oel el
%105 HIed ol Wabcd I(@&Y Hel. (Wdoel gulier)

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643511582 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
Ga (atomic mass 70 u) crystallizes in a hexagonal close packed structure. The total number
of voidsin 0581 gof Gais _ X 102, (Round off to the Nearest Integer).

[Given : N, =6.023 x 10%%]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643511582 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Ga (] S¥GAM 70 u) T GSHHI Faill Ude W¥a-d Thich Yol Bid. 0.581 g Ga AT Uihoelidl
TR HeEA %102 a2, (W=l YUiiehTe)
[faerel a2 : N, =6.023 x 102

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643511583 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



The number of orbitals withn=5, m;= +2is (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643511583 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

n=>5, m;= + 2 Al Hidsia e 8. (qUieTd 9TR)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643511584 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
At 25°C, 50 g of iron reacts with HCI to form FeCl,. The evolved hydrogen gas expands

against a constant pressure of 1 bar. The work done h}-‘ the gas durf_t'ug this expansion is

(Round off to the Nearest Integer).
[Given : R=8.314 ] mol ! K1, Assume, hydrogen is an ideal gas]
[Atomic mass of Fe is 55.85 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643511584 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



25°C &1 50 g eirgeral HCl aRIEY 3fHfeal dhedrd FeCl, TR Bld. AU 20T BTG dR[d

1 bar STETawg TR 2. & YOIV 9 $efel BH ] o112 (STac=a QUi

(fefel 32 : R=8314 J mol 1 K. 2SN Tah S 91 e I HHO)
(Fe 31U a¥HM=55.85 u)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 55 Question Id : 8643511585 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

At 363 K, the vapour pressure of A is 21 kPa and that of B is 18 kPa. One mole of A and
2 moles of B are mixed. Assuming that this solution is ideal, the vapour pressure of the

mixture is kPa. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643511585 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

363 K TUHHETET A 97 9agd 21 kPa d B d1 18 kPa 316. A 91 Ud Hiel 3101 B d S Hied
fioel. & TAU NG9 e 3™ 9o, O¥ A== aesE kPa 3Me. (Sido=dl

i)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 56 Question Id : 8643511586 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Sulphurous acid (H,SO,) has Ka;=1.7x10~ 2 and Ka,=6.4x10"5. The pH of 0.588 M
(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643511586 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

HergRd el (H,S0;) Ka; =1.7 x 10~ 2 31T Ka,=6.4 x 10~ % 3med. 0.588 M H,S0,
et pH

Response Type : Numeric

___ae. (Sl quiiehld)

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643511587 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A 5.0 m mol dm ~? aqueous solution of KCl has a conductance of 0.55 mS when measured in
a cell of cell constant 1.3 cm ™!,
1

The molar conductivit}-' of this solution is

mSm? mol ~!. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643511587 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



1.3 cm ™~ ! g feRie 3¥eiadl 9T 5.0 m mol dm 2 KCl =1 Welld U dad 0.55 mS 2.
& STaUIrl Hiei} dTéehdl _ ___ mSm? mol ! 8. (Wide=Al QUiiIa)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643511588 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A and B decompose via first order kinetics with half-lives 54.0 min and 18.0 min respectively.
Starting from an equimolar non reactive mixture of A and B, the time taken for the
concentration of A to become 16 times that of B is __ min. (Round off to the Nearest

Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643511588 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Yo HICT TR A ST B 9 fdged 2 &l 3@ 54.0 min 30T 18.0 min AgRgHe
3med. A 1M1 B = JAfchameiicd FHHIeY fHHU rawdiell Bdel 3¥dr A I Hedl B =1 16 1€
BIVAETST ARUIRT 966 min 39a. (Slde<dl QUlichIa)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643511589 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



[Ti(H,0), |** absorbs light of wavelength 498 nm during a d —d transition. The octahedral

splitting energy for the above complex is %107 ¥ J. (Round off to the Nearest
Integer). h=6.626x10 M Js; c=3x 108 ms 1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643511589 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

d —d =1 HHHemEe! [Ti(H,0) P * 498 nm G TeAidal UbTel ¥ wal. a¥iel Sifcardl eeysst
faureHrr Sl %1019 ] S8, (Sidesed quiiere)
h=6.626x10"3Js; c=3x10% ms !

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643511590 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
In Duma’s method of estimation of nitrogen, 0.1840 g of an organic compound gave 30 mL
of nitrogen collected at 287 K and 758 mm of Hg pressure. The percentage composition of

nitrogen in the compound is ____ . (Round off to the Nearest Integer).

[Given : Aqueous tension at 287 K=14 mm of Hg]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643511590 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



ARGl YR SARAT Ugeld, 0.1840 g ThT HIE-T WM 30 mL A—g 287 K 301
758 mm Hg =1 STl WA $oll. & G AAa-al Hoedkilel eqpdnl

e (Aol ulidbid)

( féefel : UvamEn S1@ 14 mm Hg 287 K TIYAHeT )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Mathematics Section A

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

864351107
5

Online
Mandatory
20

20

80

Yes

1
864351107
Yes

Question Number : 61 Question Id : 8643511591 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the foot of the perpendicular from point (4, 3, §) on the line L : s = -

. p—2 z—b

[ 3 4

I # 0 is (3, 5, 7), then the shortest distance between the line L; and line

L:X—2_Yy—4_z-5

Options :

5=

8643514771.

- - is r_-qual o :



b | =

8643514772.

1
8643514773. V3

2

i
|
8643514774, V3

Question Number : 61 Question Id : 8643511591 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: g z : Y !
o PR : azyg' = ‘4b,rznmﬁaﬁa{4ﬁ,8)mﬁ§\ulﬁﬁ dIGelell ciaral gl

(foot of the perpendicular) (3, 5, 7) &g, dY¥ W L, 3o T HT

bin B _Y¥y—4_z2-5 yiem wfla oEMAG @EM Sia} (shortest distance) FITEY

1
8643514771. V6

8643514772.

1
8643514773. V3

|
8643514774, V3

Question Number : 62 Question Id : 8643511592 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Let the lengths of intercepts on x-axis and y-axis made by the circle x>+ y* + ax + 2ay + c=0,
(a <0) be 242 and 2.5, respectively. Then the shortest distance from origin to a tangent to
this circle which is perpendicular to the line x + 2y =0, is equal to :

Options :

8643514775. V10

fr—

1

g

8643514776.
8643514777. V7
V6

8643514778

Question Number : 62 Question Id : 8643511592 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HAG 22+ 2 +ax +2ay +c=0, (a <0) T TGS x-H& 9 y-3H& AR TR Pelcdl ARG sl
(intercepts) & TG TFH 22 O 2,5 AE. T ARARGUNT agor WRIHS war oA

N, & RGBT x+2y=0 U1 el &g 38, WRIEY .
Options :

8643514775, V10
8643514776, V11
8643514777, V7

8643514778. V6

Question Number : 63 Question Id : 8643511593 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



B i
e — e i

ek — D5 Tk mid® =97 -3 50 BN e LNy, rlas£2; 58] =3

e

R M —}2
and r- |2;' O] wk| = 1, «e R, then the value of w4 ‘r‘

is equal to :

Options :

8643514779.

8643514780, 11

8643514781, 19

8643514782. e

Question Number : 63 Question Id : 8643511593 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

WAl a =i +2j -3k M b =2i 3] +5k. g e a—bEs.
- [ A A, A .—'. | A A Al . . 2
r-(uil 2§ k]==3 ST r- |2 F5j ok = I,us—R,?ﬂ'Ltl‘r 9 g §RIEY
ISR . |-

Options :

8643514779,

8643514780, 11

8643514781, 19

8643514782. k2

Question Number : 64 Question Id : 8643511594 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Let f be a real valued function, defined on R—{—1, 1} and given by

|x 1| 2
'|x|1| x—1"

Then in which of the following intervals, function f(x) is increasing ?

Options :
; 1,1
8643514783. ( ) J
1
(-=-1) U (I3, =) - 1))
8643514784, - i
1
(—==. 5@ 1}
8643514785.
1
(—1, 51
8643514786.

Question Number : 64 Question Id : 8643511594 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A f & R {1, 1} 9% M9 (defined) Fefel d<id Hedaell (real valued) Wel S 30T

f(x) = 3log, Ii I H le ferel e, O Aeiadd! DIl Jarel (intervals) A& Bd

f(x) drean s ?
Options :
8643514783, <0 @) -0 L1}
(—o,—1) U [[% ) {1”
8643514784. : )
i |
s B
8643514785.
1
(-1, 3]

8643514786.



Question Number : 65 Question Id : 8643511595 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
; T
If the points of intersections of the ellipse 16 | b_z = 1 and the circle x2 +y?=4b, b > 4 lie

2 ¢ .
on the curve y~=3x%, then b is equal to :

Options :

8643514787, 2

8643514788. -

8643514789, 10

8643514790, 12

Question Number : 65 Question Id : 8643511595 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-

.lE : .
¥ fag9 (ellipse) 1_6 | ;—2 =1 31 9 22+ y2=4b, b > 4 T BF &g y2="3x2 T TehTa¥

R (lie) A, 9X b SREY I

Options :

8643514787, 2
8643514788.
8643514789, 1V

8643514790. ~=

Question Number : 66 Question Id : 8643511596 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Let C be the locus of the mirror image of a point on the pa_rabola y2=-—1x with respect to the

line y=x. Then the equation of tangent to C at P(2, 1) is :

Options :

8643514791, X T3¥=5
2x 4 y=5

8643514792.

8643514793, ¥

- T —
8643514704, ~ T2y =4

Question Number : 66 Question Id : 8643511596 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
HHGl C Bl y2=4x I = (parabola) T¥Iel fdg=al R URH (mirror image) 9 y=x
1 Y= HeHidid MEF (locus) &8, @€ C =1 P(2, 1) I R&igE dreciea wWitied afiavu
TS

Options :

8643514791, X T3Y=3

8643514792

8643514793.

- Vi —
8643514704, * T2y =4

Question Number : 67 Question Id : 8643511597 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let A denote the event that a 6-digit integer formed by 0, 1, 2, 3, 4, 5, 6 without repetitions,
be divisible by 3. Then probability of event A is equal to:

Options :
4
8643514795, 9



8643514796.

8643514797.

8643514798.

Question Number : 67 Question Id : 8643511597 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HHG A 2 HeAl (event) SEfAW. o1 €SI A 0,1, 2,3,4,5,6 & 3P (digit) aowd GARIG!
THUNY (without repetation), 3 1 HNTel (divisible) WU 6-3HbI IUTT?E & TUN $hodl. Y
el A T HHEA (probability) RIER 3R

Options :

O |

8643514795.

~3| W

8643514796.
8643514797.

8643514798.

Question Number : 68 Question Id : 8643511598 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

d1 7
If y=y(x) is the solution of the differential equation a’f t(tanx) y=sinx, O0=x= % with

o
1(0) =0, then H(IJ equal to :

".

Options :



i l L
gl
‘. E\E,J IngF 2

8643514799.

L:n»gF 2

b | =

8643514800.

log 2
8643514801, oe

.
el 2
1 108,
8643514802.

Question Number : 68 Question Id : 8643511598 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

d E
WY y=1y(x) B ay F(tanx) y=sinx, 0=x= % Il fddeid FHIGYUE! (differential equation),

y(0)=0 HEG el 3MME, T y(EI TRIER

Options :
T
2 v‘EJ IngF 2

8643514799.

i i
E IGgF_

8643514800.

log 2
8643514801, oe

.
— log, 2
g OB
8643514802,

Question Number : 69 Question Id : 8643511599 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



lcos (1 - (x}?) sin 11 — fa}) =
Let a € R be such that the function f(x)= { () - {2 Judidaidl

la, x=10

continuous at x=0, where {x}=x—[x], [x] is the greatest integer less than or equal to x.
Then :

Options :

I
=

8643514803, “

8643514804, N0 such « exisls

o=

8643514805. V2

=
I

He | 5

8643514806.

Question Number : 69 Question Id : 8643511599 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
WA « e R 38 W DI

[cos™1(1 — 1)) sin1@1 - fx))
f(x) =4 {x} — {2}

o, xr=10

a2

g x =0 9¥ Hdd (continuous) N Bel 318, Wl {x} =x— [x], [x] & x TdHal x Y& oT8M UMY
HetH 1{E’Tl_d'i (greatest integer) 3. X :
Options :

8643514803.

T BIVETE o T (exists) A&l
8643514804

8643514805.



= | =)

i

8643514806.

Question Number : 70 Question Id : 8643511600 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If (x, v, z) be an arbitrary point lying on a plane PP which passes through the points (42, 0, 0),

(0, 42, 0) and (0, 0, 42), then the value of the expression

',} x-11 y—19 z=12 x+y+z

o .ZH.2| ,.ZH.El 2 2 2 14(x—=11) (¥ —-19) (z—12
(y—19)” (z—12) (x—11)" (z—12) (x—11)" (y—19) (x—11) (y—19) (z-12)

is equal to :

Options :

8643514807. 45

8643514808, 29

8643514809. 0

8643514810, 3

Question Number : 70 Question Id : 8643511600 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
WX (x, y, ) B DIV f§g P Udelldy &, Wdd P & (42,0, 0), (0, 42, 0) 3101 (0, 0, 42) a1 f&dgA
AYA W, T

',5| x—11 I p—19 z—12 xt+ytz
O W-19?% 2-12%  (x-11)% 2-12)° (x-11)% (y-19)°  14(x—11) (y—19) (z—12)
T USEeid Jod aXER e,

Options :



8643514807. 45

8643514808, 22

8643514809. 0

8643514810, 3

Question Number : 71 Question Id : 8643511601 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let A={2, 3, 4, 5, ..., 30} and "=" be an equivalence relation on A X A, defined by
(a, b) = (c, d), if and only if ad=bc. Then the number of ordered pairs which satisfy this

equivalence relation with ordered pair (4, 3) is equal to :

Options :

8643514811.

o

8643514812.

|

8643514813.

]

8643514814.

Question Number : 71 Question Id : 8643511601 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
G A={2,3,4,5, .., 30} 3T~ & AxA I Il HIY (equivalence relation) 3R,
(a, b) = (¢, d) g1 FffTT &34, WY AT B WX (if and only if) ad=bc. T HHT IS

(ordered pairs) T H&AI, Sl A1 FHHTA! HEUH (4, 3) A1 HHAT SISl FE FHIEM D, TIEN
3TE.

Options :

8643514811. 5

8643514812. o



=t
H

8643514813.

8643514814. 8

Question Number : 72 Question Id : 8643511602 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.
LetP(x)=x>+bx +chea quadratic polynomial with real coefficients such that L}P{l'} de =1

and P(x) leaves remainder 5 when it is divided by (x —2). Then the value of 9(b +¢) is equal

to:

Options :

|

8643514815.

L]

8643514816.

8643514817.

15
8643514818.

Question Number : 72 Question Id : 8643511602 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

WA P(x) =x2+bx + ¢ 8 94 HEUId1 (real coefficients) ¥8 Tﬂfﬁf_@ﬁ (quadratic polynomial)
i
3E, S B [ Plx) dx = 1 3T P(x) @ (x ~2) ¥ Raufad (divided) et SIvTaT a1l 516, TR

9(b +c) ¥ Yo A <IES

Options :

|

8643514815.

8643514816, 2

8643514817. e



15
8643514818.

Question Number : 73 Question Id : 8643511603 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider a rectangle ABCD having 5, 7, 6, 9 points in the interior of the line segments
AB, CD, BC, DA respectively. Let a be the number of triangles having these points from

different sides as vertices and 5 be the number of quadrilaterals having these points from
different sides as vertices. Then (5 — «) is equal to :

Options :
8643514819, 1173

8643514820, 1890

=1
i
=1

8643514821.

95

]

8643514822.

Question Number : 73 Question Id : 8643511603 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Udh 3Gd ABCD, WiTd ¥6T &s AB, CD, BC, DA =1 3id¥ 4FIId 3$H 5, 7, 6, 9 fiig amed, amn
R 1. AT o & 1 B S o, W RRIRIG A asiader ¥ Rig amd s
B & 1 PR (quadrilaterals) FEA1 3 WU BRI =1 arofadiel & fig amed. @ (B o)
TRER 3TE.

Options :

8643514819, 1173

8643514820, 1890
8643514821, /

8643514822,

Question Number : 74 Question Id : 8643511604 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Consider the mtegral

1 el
_ Ll{][lle A

| [_:J:l r

where [x]| denotes the greatest integer less than or equal to x. Then the value of I is equal

to:
Options :
8643514823, > (€t1)

8643514824, €11

45 (e —1)
8643514825,

8643514826, 0 & D)

Question Number : 74 Question Id : 8643511604 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
faeiem qQuiel (integral) =1 foER &1

|  (10[x] el
I= L] e dix .

i@l [x] & x fda x UaT &8F #EH UG (greatest integer) F¥fad. X [ O & &%
3Te.

Options :
45 (e +1)
8643514823.

9 (e +1)
8643514824,

45 (e 1)
8643514825.



8643514826, © & D)

Question Number : 75 Question Id : 8643511605 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let A(—1, 1), B(3, 4) and C(2, 0) be given three points. A line y=mx, m>0, intersects lines
AC and BC at point P and Q respectively. Let A; and A, be the areas of AABC and APQC
respectively, such that Al =3Az, then the value of m is equal to :

Options :

8643514827, 1
4

8643514828, 12

lj
8643514829. ~

8643514830,

Question Number : 75 Question Id : 8643511605 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
|G A(—1,1), B(3, 4) 3fo1 C(2, 0) & <F fdg fdefel 3M&d. TP ¥WT y=mx, m>0, Y6 AC 3for
BC A1 ¥ fig P amfor Q #ed wad. el AABC 31101 APQC o1 &=1%ha g A, ST
A, 3Med, O B A, =3A,, T m 9 o¥ §R@Ex e,

Options :

8643514827. 1

A
8643514828, 1°

'j‘
8643514829. ~

8643514830,

Question Number : 76 Question Id : 8643511606 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The least value of |z| where z is complex number which satisfies the inequality

((Iz| +3) (]z| — 1) - N e e _ ‘
||”| f 1| lﬂge s | = 103\5 |5 i 9£|, i= =1, 18 equa[ o :
= ¥,

Options :

(=]

8643514831.

8643514832.

8643514833.

8643514834.

Question Number : 76 Question Id : 8643511606 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

z| 9 Tt Hcd (least value) gEY e, W@z’
zl +3) (Jz] - ) —
[” | |||,,|] |l|1|| Y toge 2| > log 5 [5v7 + 9il, i = V-1
z J

Ul FEAH USEeld (inequality expression) HATHN SHYUNI HHS H& (complex number)
3e.

Options :
>
8643514831, ©
=
8643514832, V
3
8643514833.

8643514834, S

Question Number : 77 Question Id : 8643511607 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



. 2 . 2
sin“x 1 + cos“x cos2x
: : y i e 2 . :
The maximum value of f(x)= |1 +sin“x  cos“x cos2x|,xe Ris :
. 2 ’
smzx cos x sin 2x

Options :

8643514835.

o

8643514836.

8643514837. Y

3
8643514838, +

Question Number : 77 Question Id : 8643511607 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. 7 § )
sin“x 1+ cos“x cos2x
" »
f(x)=|l+sin“x cos"x cos2x|,xeR T PAA eI (maximum value)

o . . ’
SINTXx CO5™X sin 2x

3Te.
Options :

N

8643514835.

11

8643514836.

8643514837, V'

3
8643514838, *

Question Number : 78 Question Id : 8643511608 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given that the inverse trigonometric functions take principal values only. Then, the number

of real values of x which satisfy sin ! [%ﬂ b osin 1 (%W = sin"x is equal to :
) J

Options :
8643514839, U

8643514840.

2
8643514841.

8643514842, O

Question Number : 78 Question Id : 8643511608 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Sefel e D A BT Hefidl (inverse trigonometric functions) Had U9E 4 (principal

. . =1 3x , —1{ dx .
values) el ded. oY, sin 1(?1 t sin 1(?w = sin~ 'x U WEIEH SO x 4] aNGd
\ ) \ s

Hedidl (real values) H&AT SXEY .
Options :
8643514839, U

8643514840.

2
8643514841.

8643514842, O

Question Number : 79 Question Id : 8643511609 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let f: S — S where S=(0, =) be a twice differentiable function such that f(x+ 1) =xf(x). If
g :5 — R be defined as g(x) =log, f(x), then the value of |¢"(5) —¢"(1) is equal to :
Options :



205
8643514843, 144

197
8643514844, 144

187
8643514845, 144

8643514846, 1

Question Number : 79 Question Id : 8643511609 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT [:S — S Wi S=(0, =) & & do59 fddherig Bel (twice differentiable function) 38 &
Pl fx+1)=xf(x). WX g:5 =R & g(x) =log,, f(x) < fAfdga ovd, X [¢"(5) —¢"(1) ¥ I
EREE s,

Options :
205
8643514843, 144

197
8643514844, 144
187
8643514845, 144

8643514846, 1

Question Number : 80 Question Id : 8643511610 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Let C, be the curve obtained by the solution of differential equation 2xy i—y = yz x2, x>0.
2xy  _ dy

Let the curve C."«'_ be the solution of e
r -y

. If both the curves pass through (1, 1), then

the area enclosed by the curves C; and G, is equal to :

Options :

Hb-l:i.

8643514847.

(=

8643514848.

.
8643514849, 2

8643514850, T F1

Question Number : 80 Question Id : 8643511610 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T 2y Y

3 — yz xz,x > () 91 [dhaTd A9l (differential equation) 9&el g C; e,

HHGI 223‘1’2 :jimﬁwﬁmmﬁczm.mﬁﬁ(l,nmﬁéﬁﬁw
X —y X

e, X C, 3fer C, AT 9ehiges UREE (enclosed) &=Id &=hel GRIEX e,
Options :

vl-‘-|:‘1.

8643514847.

(=

8643514848,

e
8643514849, 2



w+ 1

8643514850.

Mathematics Section B
Section Id : 864351108
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351108
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 8643511611 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For real numbers «, 3, v and &, if

-" "Jl l\.
[ = \ il X
_ \x*-1) + tan ll |
W X A ;
J 7 JL'EI 1) a
le4| 3x“ + 1) ta_n_l{
N x y

WY ".

. 3 5
- e | | ¥ +1
F tan I[Mhﬁtaﬂ 1[
S . X J

el

= Inthan_l [l

\, LU SR

2 s

where C is an arbitrary constant, then the value of 10(« + vy + 8) is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 81 Question Id : 8643511611 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



a, B, v ST & T ddd §& A, WY

) )

= =+ 1
{1'2 l] F tan 1[1 |
\, Z

J

x
2
i +1
[x'il 32 4 1.] tan 1[1 W
N X J

. — . .
o I“Bﬁ(ta“_l [1 l 1“ HB t'ﬂﬂ_l[—?{l 1”! 3ta_t‘l_1[l l lw HC
A

\, WX A \ X s vooX

Wil C & DIUIel 3Fal (arbitrary constant) 3M&. WX 10(« + By +8) 9 Jod TREY ___
HTE,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643511612 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In AABC, the lengths of sides AC and AB are 12 cm and 5 cm, respectively. If the area of
AABC is 30 cm? and R and r are respectively the radii of circumcircle and incircle of AABC,

then the value of 2ZR +r (in cm) is equal to ____

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643511612 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



Tl AABC 98, AC 3Mf0T AB T Siidl <fidl 3ihH 12 HAT. M1 5 WA med. W AABC @
&=hos 30 (WH)2 38 a7t AABC =1 UREH® (circumcircle) U1 SAfE¥aqe (incircle) A=l
B P R T r 8. TR 2R +r (VAL A8)) 9 [ SREY _ e,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643511613 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the distance of the point (1, — 2, 3) from the plane x+ 2y —3z + 10=0 measured parallel to

=1 Ty %3
the line, — = = is
3 m 1

N

, then the value of /m is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643511613 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

, x-1 2-1 z+3 .
WY (1, —2,3) o1 fag@ o = m’f= : T AT FHIGY FOT x+ 2y — 3z +10=0 A
N - Y L] I':
TR Hmmmaﬂ‘\f{; e, W |m| 9 g IREY _ 3rTe.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 84 Question Id : 8643511614 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
"

iy A A M e F.9 M A
Let ¢ be a vector perpendicular to the vectors a =i + j ~kand b =i +2j + k. If

— — — )

— 8 then the value of ¢ - la x b/ is equal to

e * A M

c-\i+j+3k

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643511614 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Wl o Ea=i- ; k &t b =i - 2;r - ka1 R (vectors) @ (perpendicular)

SV e &, R ¢ - | + ] +3k) =8, ¢ -la xb) AT@RER_____ am.
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 85 Question Id : 8643511615 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Letf:R — Rand g: R — R be defined as

(x+a, x<0 x+15, x<0
X =4
=14

TR
, x>0 ™™ &) |(x—1%+b, x>0

where a, b are non-negative real numbers. If (gof) (x) is continuous for allx € R, thena +b is

equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes



Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 85 Question Id : 8643511615 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

TGl f: R - RaM0Tg: R - R

[x+a, x<0 J x+1, x<0

f{1]=4| =0 anﬁTg{I]: “l 1']'|E|}::r r=0

x—1

r

g [Hf¥gd $Rd. Ol a, b & U 9Tl (non-negative) 9R<Id H&T 3MEd. WX (gof) (x) & |4
x ¢ R W8I ¥dd (continuous) 3&, WX a+b XM@Y e,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643511616 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Consider the statistics of two sets of observations as follows :

Size Mean Variance
Observation 1 10 2 .
Observation 11 n 3 1
_ _ . _
If the variance of the combined set of these two observations is 9 then the value of n is

equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 86 Question Id : 8643511616 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Hlell faofedl 2 Har=gr FRIE=AT (observations) WEAEINAMI (statistics) fd@N & -
HIDPN (Size) HE (Mean) Ug¥UT (Variance)
frdteqor 1 10 2 2

TI&0T 11 n 3 1

WY A1 S ARIEU=AT ThiEd (combined) Hd U=l g &, W n d Iod AT ____

3Te.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643511617 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

n L |i 1\]\ 1*-\]\ -—__-'\]"{ 15'\]\. ’ 1-\]\.
Let n be a positive integer. Let A = 1)* n (— I ('— I (L I (— I (—

If 63A=1 s

=30 then n is equal to __
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643511617 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



HHIAI n & €49 Dc?ﬁ_ct? (positive integer) 3TE.

O G @ ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643511618 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

a b
Let A= ['al ] and B= {bll be two 2 ¥1 matrices with real entries such that A =XB, where
da 2

11 -1 3 e o L
x=ﬁ[1 k },and keR. If aj +a3 = =(b] +b3) and (K2+1) b3 # ~2b; by, then the

value of k is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643511618 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



A A{ 3TI'ﬁJTB=[E1] gl SIT 2x1 T GNUGT A oY @1 A=XB, Wl
2

: ! 17 ' 2 \ :
}(:i[ , 3T ke R O ﬂi’ | ﬂé =;':.bf - b3) T (k2+1) by # ~2by b, Wk 1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643511619 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1 _ .
Let 16’ a andbbein G.P. and —p

%, 6 bein A.P., wherea, b> 0. Then 72(a+b) is equal to
a

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643511619 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

BN % a aMRTb ¥ YA 4 (G.P.) WE ame T % % 6 ¥ TR SN (A.P,) HEd

3ed, Wil a, b> 0, T 72(a +b) SET 38,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 90 Question Id : 8643511620 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let

Sp(x)=log yx+log yx+log wyx+log vy x+log iy x+log 1y x+..... up to n-terms,
a2 a3 ~ash a1 “as18 “asrs

d
where a > 1. If 5,;(x) =1093 and 5,,(2x) =265, then value of a is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643511620 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

— .Sn (J.J = lng"dlj X+ lf}gdl_ll x lﬂgdlﬁ x4 1083.1-'11 X

+ log 11-31' FIOE 1 X F e n 981 941d
a a 27

Wl a> 1. W) S, (x)=1093 3T S,(2x) =265, WX a d ¥ed EREX 3re.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



